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𝐴241526 

𝐴173196 

𝐴258440 

𝑠𝑞𝑢𝑎𝑟𝑒  𝑠𝑖𝑧𝑒 𝑜𝑛𝑒 =  𝑠𝑞1 =  1 

𝑠𝑞𝑢𝑎𝑟𝑒  𝑠𝑖𝑧𝑒 𝑡𝑤𝑜 =  𝑠𝑞2 =  2 

𝑠𝑞𝑢𝑎𝑟𝑒  𝑠𝑖𝑧𝑒 𝑡ℎ𝑟𝑒𝑒 =  𝑠𝑞3 =  3 

𝑖𝑛 𝑡ℎ𝑖𝑠 𝑠ℎ𝑎𝑝𝑒 𝐴173196   
𝑎𝑛𝑑 𝑓𝑜𝑟 𝑎 4  𝑤𝑒 ℎ𝑎𝑣𝑒 ∶ 10𝑠𝑞1 +3𝑠𝑞2 = 

13 𝑠𝑞𝑢𝑎𝑟𝑒𝑠 

𝑖𝑛 𝑡ℎ𝑖𝑠 𝑠ℎ𝑎𝑝𝑒 𝐴241526   
𝑎𝑛𝑑 𝑓𝑜𝑟 𝑎 4  𝑤𝑒 ℎ𝑎𝑣𝑒 ∶ 20𝑠𝑞1 + 9𝑠𝑞2 + 2𝑠𝑞3 = 

31𝑠𝑞𝑢𝑎𝑟𝑒𝑠 

𝑖𝑛 𝑡ℎ𝑖𝑠 𝑠ℎ𝑎𝑝𝑒 𝐴258440   
𝑎𝑛𝑑 𝑓𝑜𝑟 𝑎 4  𝑤𝑒 ℎ𝑎𝑣𝑒 ∶ 30𝑠𝑞1 + 15𝑠𝑞2 + 4𝑠𝑞3 = 

49𝑠𝑞𝑢𝑎𝑟𝑒𝑠 



2 𝑠𝑞1 

2 𝑠𝑞1 

7𝑠𝑞𝑢𝑎𝑟𝑒𝑠 + 7𝑠𝑞𝑢𝑎𝑟𝑒𝑠  − 3𝑠𝑞𝑢𝑎𝑟𝑒𝑠 = 
11𝑠𝑞𝑢𝑎𝑟𝑒𝑠 

6𝑠𝑞1 + 1𝑠𝑞2 = 
7 𝑠𝑞𝑢𝑎𝑟𝑒𝑠  

2𝑠𝑞1 + 2𝑠𝑞1  − 1𝑠𝑞1 = 
3 𝑠𝑞𝑢𝑎𝑟𝑒𝑠 

𝐴241526 
𝐴241526 

𝐴173196 

6𝑠𝑞1 + 1𝑠𝑞2 = 
7 𝑠𝑞𝑢𝑎𝑟𝑒𝑠  

𝑐𝑜𝑛𝑠𝑖𝑑𝑒𝑟 𝐴173196 𝑙𝑖𝑘𝑒 𝑖𝑛𝑡𝑒𝑟𝑠𝑒𝑐𝑡𝑖𝑜𝑛 𝑜𝑓 2 𝐴241526 

𝑓𝑜𝑟 𝑎 (1) 

𝑓𝑜𝑟 𝑎 (2) 



3 squares hence a(1) = 3 

9+2 squares hence a(2) = 11 

 18+7 squares hence a(3) = 25 

30+ 15 + 4 squares hence a(4) = 49 


